3 Lk L g/, srar 3 R = #“ ¥ 3] BE,
5 ¥ THROFE BARPERMERTARELRE (RBEH) B e o A S
T f#E: BARPERATER BAREEFZRESE EBARELBERBR 7-W BHER KIBAEF
= 5 BARRKEES L ERELFEREZE(431020) BREENE SR X
ORF 128% 158F ORF 128% 158 BEmEHNER BK —17
[ERR. Xz (BEh) (Bh) (Bh) AmE (FMmX) @EmxR) ( @ ) M-i-EwHE BN R
D-B17433004 B (23.0)°C (21.5)°C (28.0)°C  EE (0.9)m (1.1) m (0.6 )m BRIE  —REAR # B FM20%9A308(1)
g g & & | BE [ K& | BR [] K | BR [y K & B |y K & | B& [, K & | @& |, K & | =& [, K & | &
r B B B B il il il il
30 14 100m [1] /A& #%E | 11.75 [2] #TF M | 11.98 [3] ZAMF KZ | 12.06 (4 H1 (58 1211 |5 &K &= | 12.27 [6] kA ® | 12.32 |7 =% WA | 1236 [8 HHE KE | 12.52
H| RA:+0.7 R (3%) NGR A (X) B (EB) SE— (k) ##b5 (L) B () HiK (BEA) 4 (F)
30 24 100m 1| BHHE —#& | 11.61 |2 o B—E8 | 11.67 [3| #%H #g&R& | 11.70 [4] 31l iRk 11.81 [5] @@= Z®m | 11.87 [6] MT ##& | 11.88 [7 ##EH @k | 11.94 [8 = fi— | 12.10
Bl R:+1.5 [FEJE) ST A (BEB) e 2% (BT) §5 4 Fr (HEB) INRER (V) 888 (F) =) — A (BEA)
30[ £k 100m |1 B HEQ) | 11.24 [2] tH Z=EQ | 11.28 |[3| Fux #EQ) | 11.43 |4 EE #¥Q) | 11.50 [5 FKk %@ | 11.53 [6 /MU ZH¥E®G) | 11.53 |7/ 1A #3@Q) | 11.55 [8 MHEFHFKRMH @) | 11.59
H| R:+0.3 4EE (X) Ll (BEA) F - 8BEHE #b5 (L) i (X) E-FHHEFE) Fa B &k (BT) TR (BEA)
30[ X% 200m [ 1] AKBXRAKQG) | 22.81 (2 FAXK HEQ | 22.88 |[3|&E FE®H@) | 22.99 |4l #AEQ) | 2338 [5 485 &F@ | 23.43 [6 )il EMEQ) | 23.48 |7] KiEF #AK@Q)  23.60 \
H| &:+3.0 KIZE— (F) &5 (E) 7K (BEA) REBE () R s £ (5) FER X Ry £ (%)
30| & 400m |1 B B3 (3) | 5415 |2/ JIFF AREQ) | 54.53 |[3| fEgx HE# () | 55.15 |4 %@k @3 (3) | 55.43 |5/ /Miz B2E@Q) | 55.97 |6 A @@ | 55.97 [7 &= MBAQ@) | 56.12 |
H MEEM(E) LLIRE (L) Al (%) —[# (BEA) KIRE— (F) FT UV — D= (B)
14 1500m [ 1] 5=3R #A8 | 4:27.03[2] & % | 4:29.01(3] E# =3 | 4:30.36(4] BIA # 4:32.47[5] k& & | 4:32.86[6] EP 1k} | 4:33.16 | 8] fEH MFT | 4:34.94
30 B (BEB) Bl (3K) EEA (1) W5 () %~ £ (BEB) Ry i (%) EE— (%)
B | ] 6 Tt @& @ 4:33.16 | |
(Lgg (1)
30| 24 1500m [1] fEsk Him | 4:19.77[2] WUF #ABER | 4:20.51[3] BT & | 4:23.99(4] AR A& | 4:24.73|5] Fu #%— | 4:25.17[6] KIE H | 4:25.68|7] =A s | 4:27.60[8] kIH B | 4:27.81
H REAR PR (BEB) INAGD) —DE (BT) E4 (F) LR (BEA) FT UV JI\NRER (V) HE (3k)
30[ £tk 1500m [ 1] A R¥G)  4:11.98[2 EHA {S5h(3) | 4:12.66 (3] huE (3) | 4:13.62[4] U A=) | 4:13.64|5 AR BHEQ) | 4:15.64 (6] Bl K—@) | 4:16.20 |7 Fi H£AQ) | 4:17.47[8] Bh ZE@Q) | 4:17.53
H AGEZ (Bk) x4 (F) REAR PR (BEB) FE(E) A (F) WiE (5F) i (REB) FERE (BEA)
30 #£% 3000m [1] #B)II EH3) | 9:00.78 [2[BE #&F(3) | 9:02.04 3] FH XFEQ® | 9:05.37[4] AE ®+3) | 9:08.19[5]/ &AM X#MEQ) | 9:10.37[6/EE ARG | 9:12.99[7 M £H1-@) | 9:16.10 [8] & K3EQ) | 9:18.02
H FERE (FEA) FRE (5) i (k) BEE () 0 (F) 05 (F) %~ i (BEB) FHK(FE)
30| £F 100mH 1] /hsk =R | 14.05 [2[ M H1EQ | 14.10 [3] k% B3 @) | 14.36 [4 fam m—BIQ) | 14.41 |5/ #k EBEQ | 1450 [6 /NFE =) | 14.67 \ |
H| &:-0.2 7K (BEA) KIZE= (5) Ry & (%) INMEE— V) MEE=(E) 2% ()
30[ £ 110mH |1 & FARG3) | 14.63 |2 #ih 3#t(2) | 14.78 |[3| &KX RA@) | 1557 [4[ B HXF@Q) | 16.15 [5 #ZE Eth(3) | 16.16 |6 BEA #EE(Q) | 16.37 |7/ F1HE RBL(3) | 16.65 [8 =)l EEAQ) | 16.81
H| &:+0.9 BEGE (F) INE— UV ZRAK (%) 0 (F) HSEFY (%) F -8B =%8 (BB BE4 & (R)
k& E=Bk[1 /NE FMEG) | m81 2] Al &G | m81 [3] E&F HEBEQ® [ Im8 |4 FR K#@) | Im78 [5]¥E EHEEG) | Iml0 [6] HEEKEBAG | 1m70 8 HE FEQ | 1m0
30 T2ESIAE (BEA) R (BEB) AL (k) =58 (BEA) ATEZ (3R Bey &% (BRT) AXFH (X)
B | ] | | 6 HE #MHEQ@)  1ml0 | |
4 (E)
30[HE BB 1] AR K¥EQG) | 3mb0 (2] AT FE#HEQ@ | 320 [3] b @M@ | 3mo [4] #mH Q) 3m00 |5 E& REI@) | 2m80 |6 EBE HBMAMA) 260 |7 BB —F4  2m60 [8 BHTHMth() | 2m60
H BEE () R E (F) K E (B BEE () HE (%) R E (F) R E (F) K E (F)
o[k EMEBE 1 AR ZKQ | 6md2 |2 B FHEEQ) 6m4 [3]| BH Bm@ |  6ml0 [4 #FE FQ) 5m91 (5 Bt IEAE@Q) | 5m88 [6 REL EH(2) | 5m85 |7 #EFA” EIEQ | 5m84 [8 BE mE#K Q) |  5m83
H FEEB (F)+0.2 AR (F)+. 1 HSEY (3£)+0.2 F - B (F) +H. 1 HisK (BEA) 0.5 Bey %% (BAT) +2. 0 FaRAl & (FA) +1. 3 g (1) +0. 1
0|tk FaMIZ|1 %E XE@Q) | 13mb4 |2 fEE EAEQ) | 13m24 [3] AAEARG | 13ml9 |4 AE ZE#E®GQ) | 13mi3 |5 BE E=Q) | 13m02 |6 U FEFQ) | 12m80 |7 IRF MIREG) | 12m42 [8] LA BEFEEQ) | 12m32
H 4kg HIEFY (@) F - B B (L) E-AHE) iEEE (E) AKX (X) HiJK (BEA) % (FEB)
BE |1 8% - 46.22 |2 7k . 46.83 3] WESEHm | 46.97 (4 HEsE 47.48 |5 BE 4751 |6 T | 47.58 |7 1 BA 4761 |
s0| 4> 100mR B OEFQ) +3E ME BQ) R B () wmH OBEW) ME Z3Q) B () oLz (1)
- NG A4 (1)  46.08 ;28 PNQ) NEEI%E () R BEQ) AEH K2 B R (Q2) R $EE Q)
7 k() NGR #8 EFO) FA EXA) R REEQ) #E FEQ WA #EE (1) W ZE Q)
NP N V) IV FEA(2) BE HIEQ RE —EQ Al KZE() ZE #EE() B BEQ
S 1 =3 4470 2] F-#s | 44.80 |3 5 [ 45.02 |4 ok 45.14 |5 H&¥EY | 4515 [6] mmEEE | 45.39 |7 i 45.91
3| 4x100mR BE FREEO) NI 3C) B FEQ) E A 1C) EHx EHEQ) A =HEO) = E2%0)
0 BFE KHO) AHEBEE () BE W) BE EZQ) AFE FEEQ) CL PN E) FRREL Q)
R =LY € HEE EMEQ) HiE EA#EE () AT S N€) BH MEEQG) #E HAQ) Al EEE ()
NE  BREO) s HEQ) BX Ex() HE EEQ) B B®REO) Bl REQO) K HEREG)
Bl ER ChnerZgn) KR (B2 ER (BEhFE&4) KR (BhFEFEFERS) NGRKSEH)

BF g} 4k (Bf) 4 RE |Ef 2R (i) £ AE Ef 2R (Bi) £ AE 0 Ef 2R (Bih) £ RAE Ef 2R (i) £ AE Ef 2R (Bi) £ R
R |14 7K (BEA) 20 =5 |24 F - B (GF) 18 1 |3 FEEEE(5H) 16 /|4 w5 () 158 |5 HEEFY (BK) 14 &5 |64 5 (L) 14 &5
Eixtin [ 14 BREAS 50 & [24% REAR A 45 | |3 FERE Mg |am EEAXB 31 8 |5 FiH 371 4 |6 Eahiu) 29.5 &

BrAE | 14 BREANS 95.5 & |2 BEAR A 85 = |3fk F i 76 = |44 REAB 115 |56 EETE 67 = |6f I\ 47 =




O Lok, = g/, 3 > A = o ¥ 3]
& F FHROFE BARPERMERERRE LR RBER) s o %R K
T f#E: BARPERATERE BARZEZRESE EBAELBERBR 74-W BHERE KIBEAEF
= 5 BARRKREGEH L EELSERFZE(431020) BREEHE S %
OBF 128% 158F ORF 128F 158 B&EmEHNER B —17
[KERRE. XiE (HEhn) (Bh) (Bh) BmE (MmE) @EmExR) ( & ) M-b-EHER BIORRA
D-B17433004 KB (23.0)°C (21.5)°C (28.0)°C  EE (0.9)m (1.1) m (0.6 )m BREE  —REAR # B FH2059A308 (1)
Al g g g & & [ ®B% [ K& | 8% [, K& | BR [ K & @ &R [J E & 2% [ K & BR[|y K & [ B& [ K & | &R
B r B il il B il B il i
30 14 100m [1] JIIW OHY | 13.02 |2 #k FBrE | 13.05 3] Mk ER | 13.06 (4 #EE EmBE | 13.19 [5] 2AR EHR | 13.30 [6 KE BE 13.32 [7 @\ #=%E | 13.55 [8) HEE %F | 13.67
B| E:+2.3 BE— (3K & (&) 4FER(X) KIRE = (5) F - 8B J\NREM (V) 1L (REB) TR (REA)
30 24 100m |1] thE O | 12,91 |2 E #F | 12.94 (3 AR ¥ | 13.03 |4 HE WEH | 13.04 |5 KT LMF | 13.24 |6 Al BE 13.27 |7 BT ZE® | 13.28 [8 L% # | 13.35
H| E:+2.3 ZERAK (%) & (5) Ll (1) BEGR (F) KEE—(F) X (E) g (R) HE (REA)
30| k% 100m |1 FAFEZFOG) | 12.30 |2 FEEBEFZ@O) | 12.82 [3/ KB Bz@) | 12.93 [4 =E B=@Q) 1299 |[5|BA ZTEQ) | 13.10 |6/ & ZEEQ® 1311 [T m& ¥FQ) | 13.22 [8|EH HEQ®) | 13.30
Bl &E:+1.8 TR (REA) NGR JINREZ (V) A (8EB) %~ i (BEB) HIEFY () FERE (REA) KIRE— (F) HIEFY (@)
30| ft%& 200m |1 £ #EFG) | 25.15 [2) k@A @G | 26.59 [3 JIE FHE@) | 26.84 |4 Bk EZEG)  27.35 [5] K&t EEQ) | 27.40 |6 #EZEFFQ) | 27.43 [7 B3 Frt @) | 27.52 [8] AEEE(2) | 28.13
B| B:+1.3 £ (X) NGR B - 78/ (F) BEA UV E£ (F) JAMREm V) F - 8B (F) 7k (BEA) B (8EB)
30 14 800m [1] EE ok | 2:20.36[2] E#& BF | 2:21.96 (3 @iE WEF | 2:25.26[4 K CCA | 2:25.51 (5] iBE REE | 2:28.97[6] @iIE BTE | 2:30.25[7 £k FEEE | 2:31.68(8] EE EBZE | 2:32.83
B RE (5) RE KBt /= (REA) MEEM(E) ATE— (3K LT (BK) 1588 (F) /NE (F) WiE ()
30 24 80om [1] et EBEF | 2:21.33[2] FEA 4 | 2:21.80 (3] R FAF | 2:22.01[4] Mk FERET | 2:23.50 (5] HE EQ) | 2:24.48[6] K&t Faft | 2:25.00 (7] EM HEZF | 2:25.65([8] LIl #hiE | 2:25.77
B WiE () INAGD) B (%) i (X) LU g (L) HiJK (BEA) AL (E) X-EFHXR
30[ e 800m [ 1] tEZEAF () | 2:14.56 [2 JIFF £#FQ) | 2:14.97[3 BF HEF Q)  2:20.69 |4 #kE FEHA@G) | 2:23.42[5[ IUT BEERQ) | 2:27.75[6| 88K EZ (2 | 2:30.74[7 k¥ BEQ) | 2:31.02[8] 84 HEG) | 2:34.18
B L () NGR IANREZ (V) NGR tHE (%) x4 (F) 58 (BEA) H& (FEB) FHK(E) 25
30| £k 1500m [ 1] =ixk Hi(3) | 4:44.01 |2[ MBh EFQ) | 4:47.24[3| EF +ti8Q) | 4:47.27[4 WWTFT #FEQ) | 4:51.06|5] k& #HF @) | 4:51.15[6] JIi0 FE(Q) | 4:51.56 |7 #¥E #33) | 4:51.59 (8] K F:@Q) | 4:52.76
B WiE () HiJK (BEA) g (1) KiE (X) 0E () LT (BK) Fit (%) MEE=(F)
30| £k 8omH [1[#2@ BEF @ | 11.81 [2 mEA ;EEQ) | 12.20 [3 SXBEEQ) | 12.67 (4 &iE #©Q | 13.06 |5 EbHALEO | 13.11 [6 £ ##F@) | 13.22 [7 EE AQ | 13.28 [8[#E HE(Q)  13.55
H| RBE:+2.5 Ee () %t (%) J\MKEZ (V) HiJK (BEA) 5~ B (BEB) EJED) ERE (E) FE A (FEB)
30| £k 100mH [ 1] BIAF ZEMRQ3) | 14.64 2| BF #3%E Q) | 14.80 [3 B #5@) | 14.81 [4 HP TH@G) | 1537 |5 #E MFQ@) | 15.43 [6 #HME #&XQO | 15.74 |7 HEFHEQR | 16.05 |8 EH FEF@Q) 16.13
Bl &E:+1.2 HIFY () NGR JuN 2R (REB) NGR F -8B NGR ak (F) 1L (BEB) B3 /\K V) INRE— UV HiK (FEA)
&k E=k[1 &EB AEHQ | 60 [2 WO @) | 1m50 | 41T B5Q) 1m4b \ 7 @A L£%TQ) | md5 |8 thFt EIHEG) 1md0
30 Far &% (Ral) ASE— (R EEXRFE) 88 (F) KEE— (F)
H 2 BpESYE) | 1m50 \ 4 RE #EF1Q) | 1mdd | |
B (E) A BT & (FA)
| | | 4R BEFQ | 1m4b | | |
I\NREZ UV
%k B2k AR B0 | 2md0 [2 BRE FZO) | 2m20 [3 fE H=N) | w0 [4 BRE BEQ | 2m0 | 6 HE F1E() | 1m0 [7 MIm ZKGQ) | 1m80 [8 EO BEF()]
30 K EF (BT) SR EF (BAT) EE (BAT) K EF (BT) K EF (BT) K E (BAT) BEE (H)
" | | | 5 mE e ) | 2n00 | ‘ ‘
K E (p)
0Kk EMEBE[1] F ERFQ | 5m26 [2] Z® EEREG) | 5mi3 [3#ERK YAG)|  5m02 |4 B %£(©2) | 4m98 5| #MKFYMDEQ) |  4m88 [6 —F AR (D 4m88 (7 &k FMAQ) | 4m83 [8 £F FRED) | 4ml6
B BBk (F)+1.8 HEZ (3%)+2.0 2% () +0.8 L () +3. 1 HiK (BEA) +2. 8 FREM(F)+2. 1 B3\ (JV+0.7 8% 4 Fr (BEB)+2. 2
0[FE FAAB[1 EX BE®) | 12m84 [2[#& =& Q)| 12m00 [3] JEE @@ | 1iml7 [4] /EF ZEQ) | 11m00 [5] KB K&Q) | 10m67 [6 HUE-EE@) | 1om56 |7 ILE HEE®R) | 9m97 (8 REF EE®Q) | 9msi
Bl 2. 721kg JuNZERs (BEB) =M (E) J\NREM™ (V) 4EE(X) B (L) K (BEA) N ACS) F -8B
gE (1] \RE= | 53.27 |2 H 7k | 53.85 (3 L | 54.12 |4 NG . 54.18 |5 #HE¥Y | 54.45 |6 [ ES 54.53 |7 WLiFE | 54.61 |
s0| 4> 100mR BEBHTE (2) HZE £ Q) T 10) s B2 (1) B EFQ TE BHA) wH EHO)
g EE BEA) B B (1) A #HE) ABHBES (2) R AEA) Bl BEQ) FIE BEA)
BEDE () Bi BEEA) XE BEQ) —/ #EA (1) ARHEE () e EFQ) 2% £E0Q)
EABIBE 2) HE E#Q2 WT #EQ A 0) A 8 Q) #ERQ BRILETF ()
S 1] =F=-#8%, | 51.37 [2 tay & | 51.47 3] HEFEY | 51.79 [4 H K .~ 52.01 |5 BE | 52.05 [6] J\RREZ= 52.09 [7  sKIRE— | 52.21 |8 TasimiE | 52.24
5| 4 100mR BEX £RA) L 5 2) EBH ZEEO) #A AHEQ) WAEEZ () & EBEBQ TN R 0) KEDIEE (1)
g BBRETF () =E BEEQ) RIFF IR Q) B () X2 Bz Q) EHEEYO) EHRRF (2) Bt %FW)
BF #@3) BhdHAi L Q) EBA HEQ) EER T Q) hR REEQ) R BEFO hR EE () R BEQ)
B HQ) WA 3 3) Ik BB () WREYDG) Wk E%Q EL EB Q) BA BEQ FAEEE Q)
FLBI ER (AN KR (Ed¥$) ER (Ed¥EE4) KR (EhFFERS) NRKSH
ZF e AR (B & BE w 2R (BT & = e AR (BTh) & mE o 2R (BT &2 = e SRR (BRT) & mE w IR (B & B
Fhodin e KT 23/ =S 22 [ LR 19m |« HK 19/) [« HSFEY 14m |« AE— 13. 5.4
Mixtin |« BEKEBAS 45. 5l BERA 40m | FH 39m |« /K 354 [« BEAB 34k | EELTE 26/
BhEmxti e BREAE 95. 54« EERA 85m | FH 763 |« BEAB 718 |« FETE 67/ |« /K 47K




	男子
	女子

